Use the proportionality property of linear circuits to find the voltage Vx.
First, review how we do this.

Suppose a linear circuit with input x and output y.

If it’s linear, the output is proportional to the input. So y = k*x where k is the proportionality constant.

Usually, the input is known, but the output is unknown.

So suppose that we know the output -- 1V -- but not the input, which we’ll call xu.

We’d say that the output is k*input

So the proportionality constant is 1/(xu).

Find k by analysis of that circuit.

We can then use k to find the output when given any input.

So set Vx = 1 V and let the input be unknown.

There is no current flowing through either the 22 Ω resistor or the 81 Ω resistor.

This means that the voltage across each element is 0V.

So we can replace them with wire.

This holds true as long as we don’t connect anything to our terminals.

The known voltage appears across the 68 Ω resistor.

To make our calculations a bit easier, change the known voltage to 68 V.

Due to this change, Ohm’s law gives that the resistor’s current is 1 A.

Use Ohm’s law to find the current through the 47 Ω resistor.
To find the current through the 33 Ω resistor, use KCL by adding the currents into the node and equating them to the sum of the currents exiting.

This yields 2.45 A.

Find the voltage across the resistor by using Ohm’s Law.

We want the voltage across our source.

We can find this by adding the voltage drops across the 47 and 33 Ω resistors.

So the proportionality constant is the present output divided by the present input. This is 68 / 149 = 0.456

So the output of our original circuit is k * our input, which is k*150 = 68.5 V in this specific case.

It is merely a coincidence that our original guess of 68 V is close to the real value for Vx.

